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VI Semester B.Sc.3 Degree Examination, May - 2019
MATHEMATICS (Optional)
Complex Analysis and Ring Theory
(Regular and Repeaters w.e.f. 2016 - 17 onwards)
Paper I1

Time : 3 Hours Max. Marks : 80

Instructions : (1)  Question paper has 3 parts namely A, B, & C

(2)  Answer all parts.

PART - A

1.  Answer any ten of the following : 10x2=20

(a)
(b)
(©)

Define harmonic function. Is the function u = — 2xy harmonic ?
Show that f(z) =xy +1iy is every where continuous but not analytic.
Prove that an analytic function with constant real part is constant.

Prove that I |dz] = I, where C is a simple curve of length 1.

C
State Laurent’s Theorem.
Find the kinds of singularities of
@ e es g

2
Z

i) f(z)= sinl 1

—— at z=1.

2
(4

Find the residue of f(2) = 2 atz=0
z(z— 1)

z
+3
State Jordan’s Lemma.

In a ring (R, +,-), prove that a:0=0 % a € R where ‘O’ is the identity in
Rwrt’'+".

Define null ideal and unit Ideal of a ring R.

Define integral domain and give an example.

Evaluate I 5 d, where C is a circle |z]=2.

P10,
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PART - B
Answer any four of the following : 4x5=20

2.  State and prove necessary conditions for f(z) to be analytic.
3.  State and prove Cauchy’s integral formula.

4. Ifz=ais a pole of order m of f(z) then prove that

1 It am- 1

(m— 1)! == dz’"—_l((z =a)" f(z))

R(f.a)

b Evaluate I

Cmdz where C is the circle |z—1|=3.

2w
6.  Using contour integration, evaluate _[ :

dé

7. Prove that the set R={a+b v2 ;a,be Z} is a commutative ring. w.r.t addition and
multiplication.

PART - C
Answer any four of the following : 4x10=40
8. (a) If fiz) is analytic then prove that

2 2
[a—a; + af’j—z] If@P = 4| f @

(b) Show that u=(x—1)3-3xy2+3y? is harmonic. Find its conjugate and
corresponding analytic function f(z) by Milne’s Thomson method.

APHERR AT AT
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9. (a) If f(z) is analytic within and on a closed contour C, Z=a is a point within C and
n'h order derivatives of f(z) exist at z=a then prove that :

dz

)it

2'TTiC(Z— a n+ 1

(b) State and prove Liouvelli’s Theorem.

10. (a) State and prove Taylore’s Theorem for f(z).

42+ 3
(z + 2)(z + 3) Where

(b) Expand by Laurent’s Theorem of f(z)=

@ [>3 @) 2<[z<3

11. (a) State and prove Cauchy’s Residue Theorem.

oo

cosax .. _ W 9
(b) Prove by contour integration that I e 2. o
0

12. (a) A nonempty subsetS of a ring R is a subring of R if f
(i) abeS=a-beS (i) abeS=ab €S.

(b)  Define Kernel of homomorphism of a ring. If f: R — R' be a homomorphism of
ring R to R' with Kernel K then prove that

(i) Kisasubringof R (i) Kisan ideal of R.

-00o0-
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VI Semester B.Sc.3 Degree Examination, May - 2019

MATHEMATICS (Optional)
(RCU FRESH AND REPEATERS New Syllabus)

Paper - III (Topology and Laplace Transforms)

Time : 3 Hours Max. Marks : 80
Instruction : Answer all parts.
PART - A
1.  Answer any ten of the following : (2 marks each) 10x2=20
(@) Write the discrete and indiscrete topology on a set X={a, b, c}.
(b) IfX={a,b,cland T=(X, ¢, {b}, {a, c}}. Show that the set {b, c} is the neighbourhood
of the point b.
(c) Let (X, T) be a topological space and A c X, then prove that A is always a subset
of A.ie, A c A,
(d) Define Base and Sub-base of a topology. :
(e) Prove that every T, - space is T, - space.
(f)  Define Laplace Transform of a function and write Laplace Transform of L{10%.
(g) State and prove change of scale property.
(h) Find L{sinhat} using definition.
(i)  Prove that L{f'(t)} =SF(S) —f(0) when f(t) is a continuous function.
- 3S5+7
) Find L' 5——|.
0 (52—23—3)

Define Dirac - Delta function and find L{3(t—a)}.

Solve the differential equation by using Laplace transform, " +9y=0 given
y¥(0)=0 and y'(0)=2.

P.T.O.
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PART - B

Answer any four of the following : (5 marks each) 4x5=20
2.  Let (X, T) be a topological space and A c X, then prove that :

G dA)=ANA @ A=A"Uad(A)
3.  Prove that every sub-space of a T; - Space is a T; - Space.

4.  State and prove second shifting property of Laplace Transform.

dn
5. If L{f(t)}=F(S), then prove that L{t"f(t)}=(—1)" 47 [E(S)].
T =3t . -dt= 3
6. Prove that: Ite st l_5_0
0
7.  Solve by using Laplace Transforms :
A%y _ody L, g 2t i ol
) -3 = + 2y = 1— e“'given y(0)=1, y'(0)=0.
PART - C
Answer any four of the following : 4x10=40

8. (a) Let A and B are two sets in a topological space (X, T), then prove that
d(A U B)=d(A) U d(B).
(b) Let X={a, b, ¢, d} and T={X, ¢, {b}, {c}, {b, c}}. Find the interior, exterior and
boundary of the set {a, b}.

9. (a) ProvethatT ={YNG:GeT}isatopology on Y in a topological space (X, T)
where Y c X.
(b) I X={1,2 3}and T={X, ¢, (1}, {2}, {1, 2}, {1, 3}}, then prove that
B={d, {1}, {2}, {1, 3}} is a base for T.

AFCR RV




10. (a)
(b)
11. (a)
- (b)
12. (a)
(b)

3 35639/ F390

State and prove first shifting property and evaluate L{e3t sint}.

e, 0<t<5

Find L{f(t)} if f(V) = { 3 e

Derive the expression for Laplace Transform of a periodic function of period T.
: : 2w
Find the Laplace Transform of function f(t) with period —

cosot, 0 <t<X

f(t)= =
0, IS o 2T
w w

State and prove convolution theorem.

Verify convolution theorem for functions f(t) =sint, g (t)=cost.

-00o0-
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VI Semester B.Sc.3 Degree Examination, May - 2019

PHYSICS (Optional)
Paper - 1L
(RCU Regular / Repeaters)

Time : 3 Hours

Instruction : Calculators can be used for calculations.

nRWEIn :

dgﬁ@ﬁ aaéu%c?ewdm& VT O3RCNRLTIT.

PART -1/2%R -1

1.  Answer any ten of the following questions :
8 3INT SRPRe TS TFHOR DD :

(a)

(b)

(©)

(d)

(e)

(£)

(8)

What are Miller Indices ?

SVYTT ARWOINH 030 ?

Define Space lattice.

Q0L LWTWRY, WV,ETRAA0.

State Weidmann-Franz law.

BW® O JODTHTJI, BeLO.

What is Meissner’s effect ?

daek“ao: OO NOTTEI ?

Who proposed the liquid drop model ?
TW T BEFBOHIY, 03D TFFRLATD ?
Write any two properties of a-rays.
a~$TENY O3RR)TOWOR DTW TORPRFNTD, Tewd.
Mention Semi-empirical mass formula.
BN-DODTL® FIPA ARV, IRN0DA.
Define hour angle.

OBR0" BRETTR, WYAWIRD.

What is Zenith angle ?

BPIT BRETRNOTTEI 2

Max. Marks : 80

10x2=20

P.T.O.
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(j)  Write the truth table of NAND-gate.
NAND-7et35" Z3B0eag wdoddd.

(k)  Write down the Miller indices for planes in the given set of intercepts (a, b/2, c)
(a,b/2,c) ©0S:DORNHY IIIONT WYD" BWR,OTNTR), LTCV.

(1)  If the solar altitude angle at a place is 45° 40'. Calculate the value of zenith angle.

200 FEDY ARodFS ©OLRE dres 45°40' AEY Y THRT BT FORLBOWD.

PART - II /%o - 11 A
Answer any four of the following questions : 4x5=20
8 F9NT BRFPEe Towy, JINRON GVIORD :

2. What is the transition temperature with respect to superconductivity ? Mention any
three applications of superconductivity.

©EBIZE FOWORATOF EPITT YVTPOB DOTBeD 7 WETTIZR Twoth BFedRTaD,
TePO.

3.  Explain nuclear fission on the basis of liquid drop model.
TR B BRBVOODY WeRITIIH w7} DTOR0.

4.  Define the terms ’Altitude angle’, “Declination angle’ and ‘Latitude angle.’
‘DT EReT’, DTTIRCT’ WD) VTS FReR NV, TWRI0.

5.  Write a note on classification of Liquid Crystals.
TR REIBAG WNFeFOEOT w7} T3 2T0W0.
cJ o

6. A beam of X-rays of wavelength 0.842 A is incident on a crystal at a glancing angle of
87 35', when first order Bragg’s reflection occurs. Calculate the glancing angle for third
order reflection.

2,00 38T sDed 0.842 A 880m0BTR)Y, g-30cenish 2.0033e Seedod 8°35', 2T

IBDY TISTHOMITH.  FBROZe BeedodhY N BEFOT@ONLD 2BeTMT TR

£RERY, TOBEROWD.

AR A

4o}
(30}




10.

11.

12,

3 35642/ F420

In a Linear accelerator proton accelerated thrice by a potential of 40 kV leaves a tube
and enters an accelerating space of length 30 cm before entering the next tube. Calculate
the frequency of r.f. voltage and length of the tube entered by proton.

Given : e/m = 9.578 x 07 C/kg for. proton

Bedeod ﬁcﬂme%ﬁrsdg 40kV QPI00T a:igeésaas‘abd RAD Z© deﬁm%&xrx@and%
O 30 cm LVFHD, FWA JoITT BeevHSod, BehIR. r.f. Bpedeass SO ek A
3y BREOR® BRCTHODY, FOIT THH, FoBLBOWO.

@03 : e/m = 9.578 x 07 C/kg Bz,

PART -III/ z»n - III
Answer any four of the following questions : 4x10=40
3 3UNT dRFde T, TFNCR WWIOXD :
Give Einstein’s theory of specific heat of solids. What are its limitations ?
RIS FITRIS DO YOS a,w%ors’da’nol QNWORD. ©TW3 Y&NENTeD 9
What is Hall effect ? Derive an expression for Hall coefficient. Mention any two
applications of Hall effect.
" TOWOR NOTWTED 7 TG QTH0BW GLEOHT, YVIERD. T TOFORT
CUPYTe SV GOTOINTIAT, WG,

Describe the construction and working of G.M. counter.
G.M. 2688 ohoZwm TS @) Foods FN00D, [edr A0,

Explain the prospectus of non-conventional energy sources.
OROTERONT JETRONY FBCHTINY Wi WTeWD.

What is NAND-gate ? With logic circuit write the truth table for NAND gate. Explain
the use of NAND gate as -

(a) OR gate (b) AND gate

NAND-7iet 200desh 7 ©T0 0otds QWFoBOR Beed 3ZZReTHE LIT00d.
NANDRietr evsmodpenzad,

(@) OR rieez® (b) ANDRe&neQ 2020

-00o0-
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VI Semester B.Sc.3 Degree Examination, May - 2019
PHYSICS (Optional)
Paper - 11
(RCU Fresh & Repeaters New Syllabus)
Time : 3 Hours . Max. Marks : 80

Instruction : Use calculator for calculations.
g7 sgendeaso” evauadacNAo.

PART-I/%on-1
Answer any ten questions : 10x2=20
Ben ©) gﬁaﬂe?ﬁ VZOAD :
1. (a) State Parseval’s identity of Fourier transform.

TRFBOS MHTET FReOOHTT TRTWOBTHI, BewO.
(b) State linear property of Laplace transform.
CRFH® CRTROITH Jedod MHeama, BewD.

1
(c) Find the Fourier transform of T

) .
T AW FREDONT' BRITVOITHI), FOBLBOND.

(d) What is Avalanche photodiode ?
@%@5033 s;’uaee&adéodfacs POT3eR?
(e) Give any two applications of Laser diode.
BeX0T B3RS CIPPTIRDH AT WTHOSREANTI), BRRO.
(f) Define acceptance angle.
Re500 ZRETIHI, WYITRAAD.
(g) What is fading ?
BOTRNT R0TTe?

P.T.O.
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(h) What are Keywords in C-language ?
C- 5oRONYT 3eRTFRWHH) ?
(i) What are operators used in C-Program ? Name any four.
C-BReMOIY To3ReNTT &030ezsNnTsy)m)? OIWRHTOTRT TPV, BROAD.
() Mention the features of IC - 555 timer.
IC-5550 393 3nvs, Hewd.
(k) Write any two uses of multivibrators.
Y 3eEI0T 0INFTOTTR DTB YTESRNRTRY, 2B,

() In the inverting amplifier using OP-Amp, R;;=2 kQ and R¢=2 M(Q find the
voltage gain

OP-Amp & 8DF) BPRIT IFFE 20w evTodeeNAmon, FINT FoNSNW
BRBOINTH).

R, =2kQ Tone R=2MQ 3 SIFFI8 APS ITFoeos SIA0.

PART - II/%%n -1I

Answer any four of the following : 4x5=20
FYNT 0IPPYTTTR TV, ¥0ZORD :

2.  Show that L {sinat}= _2_9_

S +a?

ROTD 3RCOND.

9
L{sinat}=
{ = } S24a2

3.  Explain the construction and working of LED.
LED od S8 @08 To0Fmd), DWOAD.

4. Write a C - program to check whether the given number is even or odd
3K03H RoBNWD AW ©Fwo WH 0T IVRJA C- TBREMOOT), 2TEWD.

L




3 35643/ F430

Mention the pin configuration of IC - 741.
IC- 7418 &5 R0OTIIoD), Tewd.

For the summing amplifier having OP-Amp Shown in the figure below. Calculate the
output voltage V.

3 391 SO WI[, vomcdeeNd Birader Hpeden® (V) ), 30EHABONO.

——WWWW————
R;=1kQ
R,=10kQ
R,=10kQ IC-741
V,=8V —WWWWi—] +

=10kQ
V=7V e

V,=10V

t

A frequency modulated voltage wave is given by the equation

V=12cos (6 x10%t+5 sin 1250t)

Find (a) Carrier frequency (b) Signal frequency (c) Modulation index (d) Maximum
frequency deviation.

BRIFINOT STIFIOD k‘a’macgodaﬂro@mrod Fpeees® VONTR), 8 FYNT ReNeFTLROT
eBSONT,

V=12cos (6x10%t+5 sin 1250t)
83 RWCTTEOWI), guodeeNd SINIYNYI, F0THROND.
(a) B3 GTIFS (b) A" SRIFS (c) FDFoDI AeeYT (d) NOT BISFS VWO,

PART - I1I/z%R - I

Answer any four of the following : 4x10=40
TPNT BRFTTETR moﬁ VZORD :

8.

(a) State and explain change of scale property of Fourier transform.
FReOODT® R TR S 800 P FEOTT MBI, Hew, WTOAD.
(b) Write the difference between Laplace transform and Fourier transform.

Uasafcan‘ BRTR0ST WP FROODT® TRTOITNY IBWNT BTYINU, LT00d

(RO AA YA P.T.O.
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9.

10.

11.

12,

Define acceptance angle and numerical aperture. Obtain an expression for numerical
aperture of an optical fibre.

2500 Bes wHd) FoaR s HTOFYI), WAV WS avod BomwIE 300
P FODTY, TBWD.

(a) Explain the basic data types used in C - language.
C- SBprmeosy GVTOIRENAT TRY Fewd BT NIR), DO,
(b) Write a C - Program to find the largest number among the three number.

R FoBNYY NOy Rosd, cIPTYTW QO FOW &R C - BREMOO),
20B0W0.

What is Amplitude modulation ? Derive an expression for AM.
aﬁdmeé xabzgosaé ROTTER 9 dg@a@é x’m?:isodaéoda ef)zpwéﬁodaaﬁd TBOWD.
Explain with neat diagram the working of IC - 555 as rectangular wave generator.

BoDF3odh ITon wITeev® BN IC-555T wedpinm JessowgReotnt 50hF R,
DSORD. '

-00o0-

NIRRT AAT AT
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VI Semester B.Sc.3 Degree Examination, May - 2019
OPT CHEMISTRY - 1
(RCU Regular/Repeater New Syllabus)

Time : 3 Hours Max. Marks : 80
Instructions : (1) All questions are compulsory.
AR - DR TIHT0 5P OHTNT,

(2) Answer all the questions in the sasme answer book.
DCR VIONTIX), 205e WIT TFIFDY 2TeO.

(3)  Draw neat diagrams and give equations wherever necessary.
ODGDG Y ADCFONIL), T SFSTIR ZRR0,

SECTION - A / Q%%% — &

1.  Answer any ten of the following : i0x2=20
BENTIDNYY Weww BIF, Y300 :

(a)

(c)

(d)

(€)

Draw the Crystal Tield Splitting diagram of d-orbitals in case of octahedral
complex.

STBRES’ FOOINITBYOD d-SRFBS NG Fds Feg HPRIoD €38 IRcWD.
What do you mean by 18 electron rule ?

18 3T DO QOTTE ?

What are Chelates ?

3SEFNRPOTTERD 7

Calculate the Stability Constant (k') of the complex on [Ag(NH;),]* whose
dissociation constant is 6x10 8.

[Ag(NH,),] * Roderor Foodng ©oindd Dodeesd 30008 6x107F 28, 280
?&d@ QoDT0F (k') MOTOTIT TR,
Write the Conformational formulae of 3-D(+) glucose.

B-D(+) MEREFT'S BINVTACON AR, W30N0.
o] fs} ~

55 1 O
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(f)  Write the partial structure of a polypeptide chain.
TOBT T 90T T RAZWNY, WTOWO.
(g) Give the classification of vitamins with examples.
BeBIINY BNeFTTLHWR, YTOBTREROOT Se@O.
(h) What is mutarotation ?
RO P00 TOWIFN Q0T P
(i) What are bonding and Antibonding molecular orbitals ?
WOGT TN BEWOPE WD IRTORTOTTER ?
(j)  State Frank - Condon Principle.
7,08 — TOBI'T Y HewO.
(k) Dipole moment of SO, is 1.63 D whereas that of CO, is zero. Why ?
SO, 3 D 7w, B3 1.63 D 833 CO, ) &mdémhd. 2% 9
()  Give Einstein’s photoelectric equation and explain the terms in it.

DIETT BFoBRWHE0D RNETTLD BRRO WHH) YTOYT IWNY WFPF WTWO.

SECTION - B / Q%on —
Solve any four of the following : 4x5=20
BINIBRIIoD Wewed TovF, YIOAD :
2.  Ixplain the crystal field splitting of d-orbitals in tetrahedral complexes according to
crystal field theory.

7638 38 WO TFoT, WD L3eod Koderor VY d-URNFLOTIY BT B3 DlnIohy,
WWOAD.

3.  Write a note on structure and bonding in Zeise’s salt.
Opedds ©TeT TN W, WoPNY urj‘ wa;sé LTBOWD.

4. What is Killians Synthesis ? Explain with an example.
3O0NT, AOFPAD® (ROZeREB) NOTTER 7 YVWIBTFROZRODT DBOXD.

5.  Give the synthesis of Vitamin C from D-glucose.
D-R3ReATROT BeIFZ ‘C’ 0P RoFeww ZRARO.

(AFERRRAR A
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6.  Ilustrate with suitable potential energy curves, the Frank - Condon principle in electronic

spectroscopy.
A8 3338 FEOesioh ATODNOOT YT BetLITYT FB,07 — 0BT IROT
JWSFA0.

7. What is dipole moment ? Explain the measurement of dipole moment by temperature

variation method.
ORE0E GREE SOTTED 7 WHS WIRTH DPOIHOT VW), FOWRROIVFTI,
WORD.

SECTION - C/Q%wn — 2
Solve any four of the following : 4x10=40

3 3ENT Wend PO, VR :

8. (a) Calculate Crystal Field Stabilization Energy (CFSE) for high spin and low spin d°
octahedral complex. Mention which of the complex shows John Tellar distortion.
d° OEFO00T 3 FOoserdr T IFDRT ToPoee W WIF WRT TOLTT
FE38 33 AT FoDI, SY FTos0. 83 TWD RoserorNYY 0dooss FooIWF) 250
BYU® DFIT S0e0ATT TordR0.

(b) Explain the factors influencing the stability of metal chelates.

SBRe® 3Bt ﬁ%)déo:b w06 T eI woémﬁaba NWOO.

9. (a) Discuss 18-electron rule with respect to [Ni(CO)5] and [Mn(CO)s].
WeREIAT BOderor BOOBRYRTOMEdFRN 18-electron DODT 2323F 20.
(b) Give the synthesis of a-terpeniol.
a-BTHFIRVRCTS ROFERESOD, BRRO.

10. (a) What are Zwitter ions ? Explain the amphoteric nature of amino acids.
OPRT® WolRHAFOTTeD 7 wiNde STNY SeHTIVT AeHH, VFORD.
(b) Give the classification of Proteins. Give examples.

BREEINY BNeFFTLTR, FRAO. YIBTR 3PRO.

[AARTRAV A P.T.O.
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How do you determine molar mass of macromolecules by viscometry method ?
@ﬂ@dabg DOTOOT TRTF WERNY W TBODHORT, Fert BomLRONED 9

Explain the concept of potential energy carves for bonding and antibonding
molecular orbitals.

WOPT TTRPOIND B TSWOPT IRPOTNY 2,338 BRGe) TOTOBODY,
DWORO.

Deduce Einstein’s Photoelectric equation.

VT RETTT DI, €0 BNETTEWI), DNWAD.

What is the significance of 10 Dq ? Mention the limitations of crystal field theory .
10 Dq 8 Zodeessndesd ? BT 3e3 ATpOIT 0N, F0edR0.

-00o0-
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VI Semester B.Sc. 3 Degree Examination, May - 2019
CHEMISTRY - II
Peper - II Chemistry Optional
Regular/Repeater (2014-15 Onwards)

Time : 3 Hours Max. Marks : 80
Instructions to candidates :
(1) All questions are compulsory.

20y FFrieh sE0h
(2)  Answer all questions in the same answer book.

DR HVITMYR) worse ¥ZT HIFDLY wBoAD.
(3) Draw neat Labelled diagram and give equations wherever necessary

UFFOFE WoBDB BFNTT) ) 0o 0dE HDETTLNYT) w3000

SECTION - A / &yeni - &
1. Answer any TEN of the following : - 2x10=20
FINSRINPE) 0does)wewse £§i§ U8dAD.

(@) Mention any two factors affecting the R value.
Ry 8 8630 s3oeds s50meod Deds H0R) ©osnes) w3oD.

(b) Give the principle of Thermogravimetric analysis.
emgzgad 900 NP0l B égﬁ@ag QRO

(c) State the principle involved in Eletrogravimetry.
DB Be3,008 w3 I | HeVO.

(d) Explain the significance of pH of the soil on the firtility.
PRM0D FOBISD) 89odbew pH & Sowgad) DBOR0.

() What is Spectrochemical Series ? Give example.
VLBV ée&rget?&bﬁef ADET) DO,

(f) What are antibiotics ? Give one example.
VDB 030N ajézﬂewﬁﬁ@@ QIOR.

P.T.O.
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(g) Give two difference between Soaps and Detergents.
AT T BIWE MY VR TR V0.

(h)  Write the reaction of Benzidine rearrangement.
WoRkBS ITo® a‘iroowacéﬁaba&) DR

() Name two factors influencing chemical shift.
BTO® Bty sedS Vet HO@d a’ammﬁ#dg DI0R.

() Mention any two types of electrodes, with example.
PVBOH03e0D DA wriod Qdﬁ@em‘ﬁva& QTOR.

(k) State Beer-Lambert's Law.
waOG—ﬁaéozooj @Qbﬁ)ddq) (Alefovblo}

()  Construct the cell reaction for Zn+CuSO, = ZnSO, +Cu and indicate which
electrode acts as anode and which acts as cathode.

Zn+CuSO, = ZnSO,+Cu 8 temeadds FFodrt Ser gséobabag TR B
R8ReE°T =3 ﬁ—eéqiroecz‘ﬁe}@ TR

SECTION - B / &n -

Answer any FOUR of the following : 5x4=20
FINSYHHYS) odePwewve megig Upcto ko

2. Write a note on Orgel diagram.
(Zlelaloa WETR) DS0RD.

3. How are the components seperated from a mixture by paper chromatography ?
Mention any two advantages of paper chromotography.

PNG-Sr dFexes I@aDBoT WBHBYTIT Pesriv) Bert DonBRH> B8
Srid-eor deairsod S0R> eRvBROSUR) wO0D.

4. (a) Explain PMR spectra of Ethyl Bromide.
B MReRETS &.omF.H0°, Seeb3rivn) w300,
(b) Write any Two advantages of TMs.
&3 ° T TR ORDBROINYT) HZOR.

5. (a) What are the requirement of Ideal Synthetic drugs ?
SN0 Jogeas BIPoD OIFTLrie™) wowd.
(b) Explain Cleaning action of Soaps.
ARV VeEOTTT &0 JFOXD.

(RN RARERR A
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6.  How is pH of a solution determined by using Hydrogen electrode ?
BER LT c‘:)cigss‘rjﬁa’mg eV003eeNY e@emmm@ WAl rbm] &’eraddaiﬂg Smtel-te)

7. Explain with a suitable example.
(a) Photo chemical Inhibition
(b) Photosensitization
RRTDTW GVROBOETRE0N D=OXD.
(@) @Wy3-veFPOLNT B8WOFT
(b) T3 JoBFedS.

SECTION - C/ dyori- 3

Answer any Four of the following : 4x10=40
FINBNYE adesymewsie megg YUEORD.
8. (a) Howis Nitrogen present in the soil determined by alkaline permanganate method

(Kjeldahal Method)
Tdeod ﬁo‘dsaéogeéa‘ DPTRT eIV mdwd%aﬂa‘g et 5@ SBodwgnd ?
(5RO HGew)

(b) Discuss the Electronic Spectrum of [Ti (H,O),** complexion.
[Ti (F,0)]** 00g5°s esodmn®s 2S5 Fog DSOR.

9. (a) Explain the mechanism of Backmann Rearrangement reaction.
80087301 DB WS PO ﬁfaomedéobag Qe
(b)  Give Synthesis and one use of Antipyrine.
8083306’ Fogestes w308) UDE)’Qimeﬁﬁ%’RSg BRRD.

10. (a) Explain the estimation of Copper present in the given solution by
electrogravimetric method.

DB FF008 DPeSRT T CRASEYT Eaai_)/ﬁfda) FoRHLBOIVS ci)tpaaiwdg
QDR

(b) Give the Synthesis and One use of Novacaine.
BRCIFE'S JoBeRss Ry evsodeen=e) wdawd.
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11. (a) Define Quantum Efficiency. Mention any two reasons for high and low quantum
efficiency.
BR083° DO, BT 09,809, VXD, F083a* TeBodQ i 08 TV T T DT
FoCeeR) S9AD.
(b) Describe the Construction of Calomel Electrode.
), SReder® ad&gea‘d 8035008 B0 DH[ORD.

12. (a) What is Benzillic acid rearrangement ? Write the mechanism of Benzillic acid
‘ rearrangements.

W02 IT® 8T BR0WESE H0TTERD ? 0087800 HBTBR0NN w308DF ST HSO®

ﬁfaomeéiabapt QRDAD.

(b) Explain Principle and working of Flame - Photometry. Write two Limitations of
Flame photometry.

BROREE HFoF FRTTE AR08 ) THODET DO FE) VWO DT 3T
Alejovylo)
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Reg. No.

VI Semester B.Sc.3 Degree Examination, May - 2019
COMPUTER SCIENCE (OPTIONAL)

(Regular/Repeater)
Paper II : Core Java

Time : 3 Hours

Instruction : Answer all Sections.

SECTION - A

Answer any ten questions, each carries 2 marks.

1.

10.

11.

12.

Define object.

List out the various types of constants in Java.
What is a constructor ?

What is a vector in Java ?

List the uses of package.

What is a thread ?

What is synchronization ?

What is a local applet ?

What are the different types of run time errors ?
Mention the uses of graphics programming in Java.
What is a file ?

What are the functions of the File Class ?

Max. Marks : 80

10x2=20

PT.O.
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SECTION - B
Answer any five questions, each carries 4 marks. 5x4=20
13. What are the basic data types used in Java ?
14. What are the different looping statements available in Java ? Explain any one in detail.
15. What is inheritance ? Explain its uses.
16. How do you add a class to a package ? Explain.
17. Explain the life cycle of a thread with a diagram.
18. [Explain exception handling mechanism in Java with an example.
19. Describe the functions of File Class.
SECTION - C
Answer any four questions, each carries 10 marks. 4x10=40
20. Explain the general structure of Java program.
21. What are the operations performed on string ? Give example.

22. How do you perform interthread communication ? Explain.

23. Write a Java program to demonstrate.
(a) Abstract class (b) Inner class

24. With a neat diagram explain I/O stream class hierarchy.

25. Write short note on :
(a) Line graph (b) Drawing Bar Charts

-00o0-
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